
5

الكسور المساویة لهذه الاعداد اكتب
.......... = 6,253.......... = 0,02841

.......... = 8,4 .......... = 963,714
.......... = 74,68



الكسور المساویة لهذه الاعداد اكتب
.......... = 23,569 .......... = 0,08619

.......... = 6,17.......... = 54,723
.......... = 46,2



الكسور المساویة لهذه الاعداد اكتب
.......... = 3,57.......... = 0,018

.......... = 58,2 .......... = 7,40513
.......... = 67,88



الكسور المساویة لهذه الاعداد اكتب
.......... = 48,94.......... = 0,05376
.......... = 73,2.......... = 485,35

.. = 724,483





